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const int MAXS=MAXN*60;
int root MAXN], tot;
struct Node
int max cnt,ans;/000000000O

int ch ;
node MAXS|;
void push up(int k){/000
node[node|k]|.ch .max_cnt>=node|[node[k].ch .max_cnt

node k| .max cnt=node node|k!.ch .max_cnt,node|k!.ans=node[node|k]|.ch
.ans;

node k| .max cnt=node/nodelk!.ch .max_cnt,node|k!.ans=node[node|k]|.ch
.ans;

void update(int &k,int lef,int rig,int pos,int v

'k) k=++tot;
lef==rig node[k|.max_cnt+=v,node[k].ans=pos,void();
int mid=lef+rig>>1;
pos>mid
update(nodel|k].ch ,mid+1,rig,pos,v);
update(node k! .ch , lef,mid, pos,v);
push up(k);
void Merge(int &k1,int k2,int lef,int rig
'k1l| | 'k2 kl|=k2,void();
lef==rig node[kl].max cnt+=node[k2].max cnt,void();

int mid=lef+rig>>1;

Merge(node Kkl .ch ,nhode k2|.ch , lef,mid) ;
Merge(node|kl]|.ch ,nhode[k2].ch ,mid+1,rig);
push up(kl);
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

#define for(i,a,b) for(int i=(a);i<(b);++1)

#define rep(i,a,b) for(int i=(a);i<=(b);++1i)

#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;

typedef long long LL;

inline int read int(){
int t=0;bool sign=false;char c=getchar();
while(lisdigit(c)){sign|=c=="'-"';c=getchar();}
while(isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();}
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sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
C::I I| |C::'\nI ||C::'\r" C:getchar ;
O

inline void write(LL x
register char c , Llen=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-"');
X)cl++len]=x%10,x/=10;
len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar(' '
inline void enter(LL x){write(x),putchar('\n'
const int MAXN=1e5+5,MAXM=
struct Edge
int to,next;
edge  MAXN<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u!=edge cnt;

’

’

struct LCA
int d/MAXN|,anc|MAXN| MAXM|,log2|[MAXN];
void dfs(int u,int fa,int dep
anclu =fa,d|ul=dep;
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
v==fa

dfs(v,u,dep+1);

void build(int root,int n

log2|[1]=0;
_rep(i,2,n
log2[il=log2[i>>1]+1;
dfs(root,-1,1);
_rep(i,1,n){/000100
int j=1; (1<<j)<n;j++
anc/il/[jl=-1;
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int j=1; (1<<j)<n;j++

_rep(i,1,n
anclil[j-1]==-
’
anc/i|/jl=anclancli]|]- j-11;

int query(int p,int g
dipl<dlq
swapip,q);
int i=log2(d[pl];i>=0;1i--
dlpl-(l<<i)>=d[q

p=anc/p![i];

pP==q
p;

int i=log2[d[p]];i>=0;1i--
anclp/[i|!=-1&8anc|p/lil!l=anciql1i

p=anc|p![i]/,g=anciqli];

anc|p ;

lca;
const int MAXS=MAXN*6O0;
int root MAXN], tot;
struct Node

int max_cnt,ans;

int ch ;
node | MAXS | ;
void push up(int k
node[node|k|.ch .max_cnt>=node[nodelk].ch .max_cnt

node k| .max cnt=node node|k!.ch .max_cnt,node|k!.ans=node[node|k]|.ch
.ans;

node k! .max cnt=node/node k|.ch .max_cnt,nodelk|.ans=node|node|k].ch
.ans;

void update(int &k,int lef,int rig,int pos,int v

'k) k=++tot;

lef==rig node|k|.max cnt+=v,node|k].ans=pos,void();
int mid=lef+rig>>1;

pos>mid
update(nodel|k].ch ,mid+1,rig,pos,v);

update(nodelk].ch , lef,mid, pos,v);
push up(k);
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void Merge(int &k1,int k2,int lef,int rig
'k1| | 'k2 kl|=k2,void();
lef==rig node[kl].max cnt+=node[k2].max cnt,void();
int mid=lef+rig>>1;
Merge(node|kl]|.ch ,nhode[k2].ch , lef,mid) ;
Merge(node |kl .ch ,hode[k2].ch ,mid+1,rig);
push up(kl);

int X[MAXN|,Y[MAXN|,Z[MAXN|,b[MAXN|,ans MAXN|,Max z;
void dfs(int u

int i=head|u;i;i=edge!i].next

int v=edgel[i].to;

lca.anclu ==V
;
dfs(v);
Merge(root/u/,root(v|,1,Max z);

ans|ul=node|root/u!|.max cnt>0?node|root|ul|.ans:0;
int main

int n=read int(),qg=read int(),u,v,p;
_for(i,1,n
u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

lca.build(1,n);

_for(i,0,q

Xl[il=read int(),Y[i|=read int(),Z/i/=read int();
memcpy (b,Z,sizeof(Z));

sort(b,b+q);
Max z=unique(b,b+q)-b;
_for(i,0,q
Z/i|=lower bound(b,b+Max z,Z[i!)-b+1;
update(root(X[il||,1,Max z,Z[i],1);update(root|[Y(i]|!,1,Max z,Z[i],1);
p=lca.query(X[1],Y[1i]);
update(root|pl/,1,Max z,Z[i],-1);
p=lca.anc(p ;
pl!=-
update(rootip!,1,Max z,Z(il,-1);
dfs g
_rep(i,1,n
ans|1i

enter(blans[i]- :

enter ;
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

#define for(i,a,b) for(int i=(a);i<(b);++1)

#define rep(i,a,b) for(int i=(a);i<=(b);++1i)

#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;

typedef long long LL;

inline int read int
int t=0;bool sign=false;char c=getchar();
while(!'isdigit(c sign|=c=='-"';c=getchar();
while(isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
return sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();
while('isdigit(c sign|=c=='-";c=getchar();
while(isdigit(c)){t=(t<<l)+(t<<3)+(c&15);c=getchar();
return sign?-t:t;

inline char get char
char c=getchar();
while(c==' '||c=='\n'||c=='\r"')c=getchar();
return c;

inline void write(LL x
register char c[21],1len=0;
if(!x)return putchar('0'),void();

17 (x<0)x=-x,putchar('-");
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x)cl++len]=x%10,x/=10;
len)putchar(c|len-- |+ ;
inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1e5+5,MAXM=20;
struct Edge
int to,next;
edge  MAXN<<1];
int head/MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u/=edge cnt;

struct lazy tag
int v,next;

lazy | MAXN*MAXM | ;

int head 2/MAXN|,lazy cnt;

void Insert 2(int u,int v
lazy|++lazy cnt].v=v;
lazy|lazy cnt].next=head 2/ul;
head 2|/ul=lazy cnt;

int Max_cnt[MAXN<<2|,Ans | MAXN<<2|,lef[MAXN<<2|,rig|[MAXN<<2|;
void build(int k,int L,int R
lef[kl=L,rig/ k! =R;
int M=L+R>>1;
L==R Ans[k]|=M,void();
build(k<<1,L,M);
build (k<<1|1,M+1,R);

void push up(int k
Max cnt|k<<l]|>=Max cnt|k<<l|
Max cnt/k|/=Max cnt|k<<l];
Ans|k!=Ans|k<<l];

Max cnt[k!=Max cnt[k<<l|1];
Ans|k|=Ans | k<<1|1];

void update(int k,int pos,int v
lef|[kl==rig|k
Max cnt/k!+=v,void();
int mid=lef|k|+rig/ k!>>1;
pos<=mid
update(k<<l,pos,Vv);

update(k<<1|1,pos,Vv);
push up(k);
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int d[MAXN]|,sz[MAXN|,f[MAXN|,dfs id/MAXN|,inv_id[MAXN|,dfs t;
int h_son{MAXN|,mson MAXN|,p[MAXN/;
void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;d ul=depth;mson[ul|=0;
int i=head|u;1i;i=edge!i].next
int v=edgel[i].to;
v==fa

;
dfs 1(v,u,depth+1);
szlul+=sz[v];
sz|[vi>mson|u
h sonlul=v;
mson{ul=sz(v/;

void dfs 2(int u,int top
dfs id/ul=++dfs t;inv_id|dfs t|=u;plul=top;
mson|u
dfs 2(h son|ul,top);
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
v==f[ul||v==h_son|u

dfs 2(v,v);

void update path(int u,int v,int w
piull=plv
dipiull<dlplv
swap(u,v);
Insert 2(dfs id[plull,w);
Insert 2(dfs id[ul+1,-w);
u=fl[plull;

diul>dlv
swap(u,v);
Insert 2(dfs id|ul,w);
Insert 2(dfs id(v/+1,-w);

void update node(int u
int i=head 2/ul;i;i=lazy[i]|.next
lazy/i].v>
update(1l,lazy(il.v,1);

update(1l,-lazylil.v,-1);

int XIMAXN|,Y!MAXN|,Z MAXN!,b[MAXN!,ans|[MAXN/;
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int main

int n=read int(),q=read int(),u,v,w;
_for(i,1,n
u=read int(),v=read int();
Insert(u,v);
Insertiv,u);

_for(i,0,q
Xlil=read int(),Y[i/=read int(),Z/i/=read int
memcpy(b,Z,sizeof(Z));
sort(b,b+q);
int Max z=unique(b,b+q)-b;
dfs 1(1,-1,0);
dfs 2(1,1);
build(1,1,Max z);
_for(i,0,q
update path(X(i|,Y[i],lower bound(b,b+Max z,Z[i|)-b+
_rep(i,1,n
update node(1i);
ans|/inv _id[i] |=Max cnt|[1]>07?blAns -

1

_rep(i,1,n
enter(ans|i]);
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